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1. Consider the following statements -

4. Consider the following statements -
1. Jhelum River

passes through 1. India has more arable area than
Wular Lake. China.
2. Krishna River directly feeds Kolleru 2. The proportion of irrigated area is
Lake. more in India ag compared to
3. Meandering of Gandak River China.
formed Kanwar Lake, 3. The average _Productivity per
How many of the statements given hectare in Indian - agricultyre is
above are correct? higher than that in Ching_
(@) Only one How n::;my of the above statementg are
(b) Only two “oRren
(c) All three (@) Only one,
(d) None (b) Only twe
(€) Al three
2. Consider the followin irs :
E.pedr (d) None
Port Well known as 5. Which one of the following i ¢
1. Kamarajar Port : First major port in India €Xample of Tepeated fa))g 2 he best
registered as a company BlVIng rise tqo Present-q Sea 1‘5"‘31,
marshland? &Y extensive
2. Mundra Port - Largest privately owned )
port in India (@) Bhitarkanika Mangroveg
3. Visakhapatnam - Largest container port in (b) Marakkanam Salt Pang
Port India . () Naupada Swamp
(d) Rann of Kut
How many of the above pairs are CJh
correctly matched? 6. llmenite ang rutile, abynq,
i - : antly ayaj)
: I certain coastal tragy auable
(a) Only one pafr rich sources of whicg chn:endia’ are
(b) Only two pairs following? f the
(c) All three pairs (@) Aluminium -
(d) None of the pairs (b) Copper
3. Consider the following trees : (¢) Iron
L. Jackfruit (Artocarpus heterophyilus) (d) Titanium
2. Mahua (Madhuca indica) 7. About three-fourths of world’s cobalt
G a metal required for the manufactyre
3. Teak (Tectona grandis) , of batteries for electri ey
How many of the above are deciduous

C motor Vehicles,
is produced by
trees?

(a) Argentina ~
(a) Only one

(b) Botswana
(b) Only two (c) the Democratic Republic of the
Congo
(c) All three
(d) None

(d) Kazakhstan

. [ P.T.0.
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8. Which one of the fo
the Congo Basin?

(@) Cameroon

llowing is a part of ¥1. Consider the following statements -

Statement-] :

India, despite having
(b) Nigeria @eposits,.qepends
N its electricity prod
an Statement-I] -
(d) Uganda Uranium, enricheq to the extent of
at least 60%,

is requireq for t
Production of electricity. o

uranium
on coal for most of
uction,

9. Consider the following statements :
1. Amarkantak Hills are at the

confluence  of Vindhya andg Which one of the
Sahyadri Ranges.

Biligirirangan Hills constitute the
easternmost part of Satpura Range.
3. Seshachalam Hills

rrect in
statements?

constitute the

nt-IJ is
Correct €xplanation for Statcmen?lle
s(;}olllt:lemmost part of Western (b) - Both Statement-—l and Statement 1
ats. are correct ang S tementyg is
How many of the statements given ISnt)att the clorrect €Xplanation fo,.
above are correct? p “ents
Statcment—-[ is c
(@) Only one Statement—Jy is incc)rr:-,:-1-1;.11:-&ct but
b) O
(b) Only two (d) Statement—| is incorrect b
(c) Al three Statement-j is correct s
(d) None

12. Consider the followin
10. With reference to India’

g statements .
S projects on

d the Tollowi Statement-] -

connectivity, consider ¢ following Marsupials are —

statements : India Naturally founqd i
1. East-West Corridor under Golden

Quadrilateral Project
Dibrugarh and Surat.

2. Trilateral Highway connects Moreh
in Manipur and Chiang Mai in
Thailand via Myanmar.

3. Bangladesh-China-India- Myanmar
Economic Corridor connects
Varanasi in Uttar Pradesh with
Kunming in China,

connects

How many of the above statements are
correct?

(a) Only one
(b) Only two
(c) Al three
(d) None

XDTG-F-G ST/62A

Statement-I1 :

Marsupials can thrive

only in
grasslands with no p A

redators

Which one of the fol1

\ owing ig Correct
In respect of the above Statementsp

(@) Both Statement-I and S
”  are correct and Staterm,
correct explanation for

montanc

tatement-yg
ent-1II is the
Statement-|
(b) Both Statement-I and Statement-I1

are¢ correct and Statement-I jg

not the correct explanation for
Statement-I

(c) Statement-1 is  correct but
Statement-II is incorrect

(d) Statement-] is incorrect but
Statement-II is correct

[P.T.O.



13. Invasive Species Specialist Group’ (that
develops GlBB"Eﬂ__TﬁirasiVe\Species
Database} belongs to which one of the
following organizations?

(@) The International Union  for
Conservation of Nature

(b) The United Nations Environment
Programme

(¢) The United Nations World
Commission

for Environment and
Development

(d) The World Wide Fund for Nature

14. Consider the following fauna -

1. Lion-taileg Macaque

2. Malabar Civet
3. Sambar Deer

How many of the above are generally

nocturnal or most active after sunset?
(@) Only one
(b) Only two
(c) All three

(d) None

15. Which of the following organisms pe_rform
waggle dance for others of their kin
to indicate the direction and’ the
distance to a source of their food?

(a) Butterflies
(b) Dragonflies
(¢) Honeybees

(d) Wasps

XDTG-F-GST/62A

16. Consider the following statements -

K

1,

Some mushrooms have medicina]
properties.

Some mushrooms have pPsycho-
active Properties,

1 s have insect:icida_l
Properties,

Some mushroom have biolumj-
nescent Properties.

Statementg are
correct?

(a)
(b)
(c)
(@)

17. Consider the
regarding the In

1.

Only one
Only two

Only three

All four

fpllowing Statementg
dian squirrelg :

They build nests by making
burrows in the ground,

They store their food materials like
nuts and seeds in the ground.

They are omnivorous.

How many of the above statements are
correct?

(a) Only one

() Only two

(of All three

(d) None

[P.T.0.



18. Consider the following statements -

1. Some microorganisms can grow
in environments with temperature
above the boiling point of water,

2. Some microorganisms can grow
in environmentsg with temperature
below the freezing point of water,

3.

Some microorganisms can grow
mm highly acidie environment with
a pH below 3.

correct?

(a) Only one
(b) Only two
(ef” All three
(d) None

19. Which one of the following makes a tool
with a stick to SCrape insects from
a hole in a tree or a log of wood?
(@) Fishing cat
(b) Orangutan
(c) Otter-

(d) Sloth bear

20. Consider the following :
1. Aerosols
2. Foam agents
3. Fire retardants
4. Lubricants
In the making of how many of the above
are hydrofluorocarbons used?
(a) Only one
(b) Only two
(c) Only three
(df All four

XDTG-F-GST/62A

21. Consider the following statements -
Statement-1 :

Interest income from the deposits
in Infrastructure Investment Trusts
(InvITs) distributed to their investors ig
exempted from tax, but the dividend is
taxable,
Statement-y -
InvIiTs are Tecognized gag borrowers
p under the ‘Securitization and Recon-
Struction of

ancial Assetg an
nforcement of S i
0 ?

are correct and

not the CoTrect ex lanatj -
Statement~I #aktion .

(c) Statement-g
Statcment—ll i
(d) Statement-| is
Statement—Il is co
22. Consider the fo
Statement-] :
In the Post-pandemijc Tecent
X 4many Centra] Banks worldw;j
carried ou

€ hikes
Statement-1j -

Central Banks generally assume that
pe:y have the a]_:nh_ty_ o counterget the
rising consumer Prices vig monetary
policy means. = ’
Which one of the follo

respect of the aboye statementg?
(@) Both Statement-] and Statement-yy
are correct and Statement-1| jg the
correct explanation for Statement-|
Both Statement-1 ang Statement-|1

are correct and Statement-||
not the correct

Statement-|
{}?J‘ Statement-1 _ '1_9. correct
' Statement-11 is incorrect
(d)* Statement-1 is  incorrect
Statement-1l is correct

incorrect
ITecy

llowing statements :

past,
de haq

wing is Correct jip

(by

is
explanation for

but

but

| P.T.0.



23. Consider the following statements !
Statement-] :

Carbon mark
the most wides

ets are likely to be one of

pread tools in the fight
against climate

change. Ve
Staternent—ll g
Carbon markets transfer resources
from th

Which one of the
respect of the

(a)

()

(c)

(d)

24. Which one of the
the Reserve Bank
to be part of ‘ste

(a)
(b)
(c)
(d)

€ Private sector to 'the State.
following is correct in
above statements?

Both Statement-]
are correct and §
correct explanation for Statement-]
Both Statement-] and Statement-I|

and Statemeng-I1

not the corre

ct explanation for
Statement-]
Statement— is correct but
Statement-]] is incorrect
Statement-] Is  incorrect but
Statement-|] is correct :

following activities of
of India is considered

rilization”?
Conducting ‘Open Market
3 Operations’
Oversight  of settlement  ang

Payment systems

Debt and cash Mmanagement for the
Central and State Governments

Regulating the functions of Non-
banking Financial Institutions

25. Consider the following markets :

1.
2.
3.
4.

Government Bond Market .
Call Money Market #
Treasury Bill Market }
Stock Market,

How many of the above are included
In capital markets?

(a)
(b)
(c)
(d)

Onl_y one.”
Only twosr
Only three
All four

XDTG-F-GST/62A

tatement-] is the/

11

26. Which one of the following best describes

the

A Field?
(@

(b}

(c)

(@)

concept of ‘Small Farmer Large

Resettlement of a large number
of people, uprooted from their
countries due to war, by giving
them a large cultivable land which

they cultivate collectively anq share
the produce

a Contract i
a corporate bod with

_ Y and Surrender
their land tq the COrporate body

for a fixed term for which the
Corporate body makes g Payment
of agreed amount to the farmerg

nds loans, technica_l
materia]

small famnml;mS o
ma e L
an area S0 s n

: at they Produce tha.
agricultural commodity requirsg
by  the . COMmpany ¢ its
manufacturmg Process and
commerciag] Production

A company exte
knowledge and

2 number of

27. Consider the fol]owing Statementsg

% 1.

How many of the abov
correct?

The Governm
Minimum Sy
(Guizotia aby

ent of India
Pport Price
ssinicq)

Provideg
for niger
Seeds,
Niger is cultivated as a Kharif crop,

Some fribal People in Ingia Use
niger seed oil f9r cooking.

e statements are

(@) Only one

(b)

Only two

(c) All three
(d) None

[ P.T.0.



28. Consider the invest

30. Consider the following

ments in the following
assets :
1. Brang recognition _-
2! lnventory
3. Intellectual property v~
4.

Mailing list of clients
How many of

_ ‘ ©of the above are considered
IMtangible Investments?
(a) Only one-

(b) Only two P
(c) Only three *
(d) Al four

29. Consider the following :

1. Demographic performange
2. Forest and ecology ..~

3. Governance reforms f

4. Stable government 4

5.

Tax and fiscal efforts +

For the horizo
Fifteenth Fin

(aj Only two

(b) Only three ~
(c) Only four
(d) All five

infrastructure
Sectors

1. Affordable housing
2. Mass rapid transport Y
3. Health care

4. Renewable energy _

On how many of the
UNOPS  Sustainable
Infrastructure and

above does
Investments in
Innovation  (S3i)
mitiative focus for its investments?

(a) Only one

(b)  Only two

(¢) Only threes

(d)  All four

XDTG-F-GST/62A

31. In essence, what does ‘Due Process of

Law’ mean?

(@) The principle of natural justice””
(b) The procedure established by law*
(c) Fair application of law.

(d) Equality before law

32. Consider the following statements

Statement-] -

In India, prisons are Managed by
State Governments with their own
rules and regulations  for the
day-to-day administratio

N of prisons.
Statement-11 :

In India Prisons are governed b

; s Yy the
Prisons Act, 1894 which €Xpressly
kept the subject of Prisons in the
control of Provincial Govemments.

Which one of the following is correct in

respect of the above statementg?

(@) Both Statement-I ang Statement—yy
are correct and Statement—|g is the
correct explanation for Statement_J

(b) Both Statement-] a

nd Statement—II
are correct ang Statement—ll is
not the correct eXplanation for
Statement—]

(c) Statement-| is

correct but

./~ Statement-1] is Incorrect

(d) Statement-I is Incorrect but
Statement—

Il is correct

33. Which one of the fol

lowing Sstatements
best reflects the Chief purpose of the
‘Constitution’ of a country?
(@) 1t determines the objective for the
making of necessary laws,

(b) 1t enables the creation of political
offices and a government.

/— . . ~
(b1t defines and limits the powers of
government,
(d) 1t secures social justice, social
equality and social security,

[ P.T.O.



34. In India,

Which one of the following - With reference to Financ_e Bill and Money
X Consu‘tutional Amendments was widely Bill in the Indian Parliament, consider
believeq 10 be enacted to gvercome the following statements -
%mt&m&% of the 1. When the Lok Sabha transmits
(@) 1st Amendment
(b) 42ng Amendment*
(c)

Finance Bill to the Rajya Sabha,

(&
it can amend or reject the Bil], \°
44th Amendment

2.
(d) 86th Amendment*

When the Lok Sabha transmits
Money Bill to the Rajya Sabha
. it cannot amend or reject the Bil]
35/°C . e L | i
-of Ongilg:rmt%:di?.l}o“mg °rganizations/ it can only make recom ndations,
1. The Nationa] Commission  for 3. In the case of disagreement
Backwarg Classes Eet_weens %1;13 Lok Sabha ang the
2. The National g i Aya Sabha, there iIs no joint
Commission _%Jma.n Rights s?ttllnlg for___l_\f_l_t_)pﬁe_zr Bill, but g Jjoint
3. The National Law Commission\][ ;?nh;fce—g?ﬁomes: Necessary  for o
4. The National Co.ns}lmer Disputes g R 59”’5\0{(}5
Redressal Commission t How many of the above statements are
How many of the g4 ove  are correct?
constitutional bodieg?
(@) Only one ” (@) Only one
(b) Only two (b) Only two""
(c) Only three
(d) Al i'(our (c) Al three
36/Considcr the following statements - (@) None
1. If the election of the President 38. Consider th follows
of India is declareq void by ) ¢ ‘ollowing statements
the Supreme Court of India, all
acts done by him/her in the S:C:ret;’lZSCeniga] Government Notifies
performance of duties of his/her & Community Reserye’
office of President before the date » 1. the Chief Wildlife Wardqen of the
of decision become invalid. ba X State ‘bccomes the 80verning
2. Election for the post of the authority of such forest -
President of India can be postponed - hunting is net allowed in such $ikn
on the ground that some Legislative
Assemblies have been dissolved people of such area are allowed to
and elections are yet to take place. collect non-timber fUl‘ESt\p,rOduce
3. When a Bill is presented to the 4, pcoplg of such area are allowed
President of India, the Constitution traditional agricultural practices
prescribes time limits within which -
he/she has to declare his/her How many of the above Statements are
assent correct?
How many of the above statements are (@) bnly one
correct?
(a) Only one (b) Only two )
(b) Only two (¢) Only three
(¢) All three
(d) None

(d) All four

[P.T.O.
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39. With reference to ‘Sc

XDIG-F-GST/62A

heduled Areas’
i India, mnm-_:-—ig_mg
statements ¢ o :
s *y State, the notification of
an area as &hews
place through an OTd_e_l_'_,_‘}_f..-‘-"l‘lc
President. . s
2. The largest administrative unit
forming the Scheduled Area is the
District and the lowest is the
cluster of villages in the Block. ~
The Chief Ministers of the
concerned States are required to
submit annual reports to the
Union Home Ministry on the
:_admimsr_ratmn of Scheduled Arcas
in the States.
How many of the
correct?
fa) Only one”
(b) Only-two
{c) All three
(d)] None

Zbove statements are

40. Consider the following statements :

Statement-1 :
The Supreme Court of India has
held in some judgements that the
reservation  policies made under
Article 16(4) of the Constitution_of
India ‘would be limited by Arficle 335
for maintenance of efficiency of

administration.

Statement-II :
Article 335 of the Constitution of

India defines the term ‘efficiency of
administration’.
Which one of the following is correct in

respect of the above statements?
ment-1 and Statement-11

{a) Both State
are correct and gratement-Il is the
correct explanation for Statement-I

(b) Both Statement-1 and Statement-Il
are correct and Statement-ll 18
not the correct explanation for
Statement-!

(¢) Statement-l is correct but
Sratement-1l 1s ncorrect

(d) Statement-l 18 incorrect  but

rrect

Statement-1l 15 €O

41. In which one

17

a

(@

i i s
f the following regions wa
* 5 which flourished as
rominent Buddhist centre under

the Mahasanghikas, located?
-"_,.‘-—"-'—'_——.

Andhra

(p) Gandhara

42. With reference to ancient Indi
the following statements !

43.
»

(c) Kalinga ~

(d) Magadba |

a, consider

1. The concept of Stupa is Buddhist
in origin. .
2. Stupa was generally a repository

of relics.
3. Stupa was a  votive and
commemorative structure in

Buddhist tradition.

How many of the statements given
above are correct?

{a) Only one
{b)
(c)

(d)

Only two
All three -

None

With rgference to ancient South India
Korkai, Poompuhar and Muchin \\'en,:
well known as
{a) capital cities
(b) ports »

centres of iron-and-steel making

(¢)
(ct)

shrines of Jain Tirthankaras

| B.T.O




44, Which ¢y

45.

€ of
the Practice
mentioneq ;

(a) Kingg

the following  explains

of  Vattakirutal’ as

N Sangam poems?
“Mploying wWomen

(b) Learne

bodyguards
d
Toyal C

o Persong assembling in
LIS 1 digeiing religious
and Philosophiagy %

Mmatters -

(c) Yot}ng girls keeping Watch over
agncultura] fielgg an Tiving away
birdg and animalg

(d) A klng defeateq in g battle
comn}lttmg Tritual Suicide by

1 Starving himsels to death

Consider the following dynasties -

1. Hoysala

2 Gahadavala

3 Kakatiya

4 Yadavg

How many of the above g asti
€stablished their k e

eighth century AD?
(a) Only one

47. “Souls are not only

the property of
but also of rocks,
many other natural
d on as living by other

animal and plant life,
running water and
objects not looke
religious sects.”

The above statement reflects one of
iefs of which one of the

(@) Buddhism
(b) Jainism v
(c) Shaivism

(d) Vaishnavigyy

48. Who amon,

A g th
Vijayanagarg

‘ Anal-cum-aqueg
kxlometres lo et

: ng from
Capital city? e

(a) Devarayg 1 ki

() Mallikarjyp,
(b) Only two ) Vira Vijaya
(c) Only three (d) Virupaksha
(d) None 49, Whodlax:fng the fo win flers o
mediey uj t :
46. With reference to ancient Indian History, Pm'gj‘ra SUIrendereq Diu ¢4
consider the following pairs - .
() Ahmag Shah *
Literary work Author )
L. Dewchandragupta : Bilhana

2, Hamm:'m—Mahakavya
3. Milinda-panhg

4, Nitvakyampritq

How
correctly matched?
(a) Only one

(b) Only two

(¢) Only three

(d) Al four

XDTG~F—-GST/62A

: Nayachandra Suri
: Nagarjuna l

: Somadeva Suri

- a1 rr{_}
many of the above pairs a

19

Mahmugqg Begarha”
() Bahadur gpqy, y 8

Muhammag Shah

was the Qoy

ng Actsg
: €rnor Generg) of Bengq)
designated ag the Governpy Generg|
of India?

(a) The Regulaling Act
(b) The Pitt’s Ingiq Act
(¢) The Charter Act of 1793

(d) The Charter Act of 1833 ~

[PT.0



51. Consider

A

52. Consider the

relation tih f‘3‘110"-‘vir1g statements in

53. Consider the following statements :
vanani Surakshg Yojana :
].. ][ 1 “-‘-_-""“"-"—"—‘—-——---—-..-—-. S s
of I?hi ssa{e Motherhgogd intervention 1. Carbotr} fibres ; ar;m uosrt:::int;n . ;zcei
% lts o, a}te . g BmE ' I'nanutacm‘t?le: afld alclzrcraft's
and n*:;:-‘,cligrte ll to reduce maternal . 1n automopi :
al mortaj —
3 iregflant Women, Y 2TOTg poor 2. Carbon fibres once used cannot be
; & .
delivlems Promote institutional recycled
Womer, mong Poor Pregnant . .
4 Its op Which of the statements given aboye
Public Ve includes Providing is/are correct?
infantg u A facilities to  sick
- e VAT of age. (@ 1 only .~
How ;
above r.;f? of the Statementg given
Correct? b) 2 onry
{a) Only One
(b)  Only ty, () Both 1 ang o
(c) Caly threes (d) Neither 1 nor 2
(d) All fOLlI‘/

fonowmg statementg b S4. Consider the following actions ;
the context of in €rventions pe;
undertaken ; 'ng i
un nder naemia Mukt 1 Detection of car Crash /colhsmn
arat Strategy - Wwhich results in the deployment of
1. It pliovides Prophylactic calcium airbags almosgt 1nstantaneously
Supplementation for Pre-school ;
children, adolescents ang Pregnant 2 Detection of accidental free fall of
women, a 1apltop towards the ground which,
_ ‘ results in the immcdiate turnj
2. It runs gz _Campaign for delayed of the hard driye Ming off
C(_)rd clg ping at the time of child- '
_birth, 3.  Detection of the tilt of the smart.
3. It provides for periodic deworming Phone which resuits in the rotatioy,
to children and adolescents, ~~ of display between portrait angq
. landscape mode
4. It addresses non-nutritional causes
of anaemia

in endemic pockets
with  special focus on malaria,

hemoglobinopathies and fluorosis,

How many of the statements given
above are correct?

(@) Only one

In how many of the abovye actions ig the
function of accelerometer required?

(@) Only one

(b)" Only two

(b) Only two (c) All three
(c) Only three
None
“ Al four G
XDTG~F~GS’!‘/62A =
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85. With

ref;

iy p Tence to the role of biofilters
ce : oty
| mnSidmrt:ulatn-xg Aquaculture Sg’rstﬁm’
} T the OWing statements :
1. Biofiys )
. ::ters _Drovide Waste treatment
Tnovmg Uneaten, fish feeq.
2. Bi ;
inof?l:rs COnvery AMmonia pregent
8 Wasta to Nitrate . 2 P
B NR AL
3. 1
nllotﬁ.lters Mcereagea phosphoms as
Tient for fish in Water ‘t\
How Mmany of
the
above are corre t? ‘ements siven

(@) Oniy One -
(b) Only two
(c) An three
(d) None

56. Consider the following Pairs

Objects in

space
1. Cepheids
2. Nebulae
3. Pulsars

Description,

Giant clouds

of dust ang
gas in space -

Stars which brighten and
dim Periodically _—

Neutron stars that are
formed when massive stars
run out of fuel and collapse

How Imany of the above pairs are
correctly matched?

(@) Only one
(b) Only two~
(c) All three
(d) None

XDTG-F-g ST/62A
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S7. Which one of the following countries has
its own (Satellite Navi_gﬁ_ti_on Systemﬂ
(@) Australia’}

(b) Canada”

(c) Iarael't

(d) Japan”

58. Consider the following statementg

1. Ballistic missiles are jét-propelled
at  subsonic Speeds throughout
their flights, while crujse missileg
are rocket-powereq only in the
initial phase of flight.-#

2. Agni-v is g medium~range
Supersonic Cruise missile, while
BrahMos is a solid-fuelleq
Intercontinenta)] ballistic missile

Which of the statements given aboye

is/are correct?

(@ 1 only

(b) 2 only

(c) Both 1 and 2

(% Neither 1 nor 2

[P.T.O.



60. With

XD'I‘G__ F -G

A

the

POWer plants
Iy Pollution,
3. There jg S

g -
€Xposure ¢, mercwg- safe level of

€ aboye state
correct? ments are

(@) Only one

(b) Only two /
(c) Al thre;/
(d) None

reference to

(_grecn hydrogen}
consider the following- statements :

1. It can be used direct]

Y as a fue]
for internal combustion. ;

2. It can be blended with natura] gas
and used as fuel for heat or power
Beneration.

3. It can be used in the hydrogen
fuel cell to run vehicles.

How

many of the above statements are
Correct?

(a) Only one

(b) Only two /
(c) Al three

(d) None

25
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61. Consider the following countries -

L

2

(@)
(b)
(c)
(d)

Bulgaria "~
Czech Republic #
Hungary - ‘
Latvia
Lithuania

Romanijs .~

(@) The total

(b)

(c)

()

) amoynt
rt;)cewed at the &
about 10 times of t 1‘_0L1g1-,1y
the poles. hat Teceiveq

Infrareq Tays const:
: ) Stityy
two-thirds of insolation, fough)y,
Infrareq waves are |o,
Bely absg
by water vapour thatorbe.d
concentrated in

the 1 '8
atmosphere. Ower

Infrared wavesg are a par

t of Visible
spectrum of elcctromagnctic Waveg
of solar radiation -

| PT.o



63. Consider the following statements -
A, ' Statement-] -

65. Consider the following statements
The soil in tro

l. Ina seismograph, P waves are

pical rain forests is rich recorded earlier than S waves.

N nutrients. 2. InP waves, the individua] particles
Statement-yj . ‘ vibrate to and fro in the direction l o

The high temperature ang moisture of wave Propagation whereas in

°f " tropical rain  forests cause S waves, the pa

deagd OTganic matter ip the soil to

decompo S€ ‘quickly, .

Which one of

rticles vibrate y
and down at ri

ght angles to the
direction of wave Propagation,
the following ig correct in
TeSpect of the aboye statements?
(@) Boty State

Which of the Statementg given
1s/are Correct?

above
(@ 1 only
anation for Statement-| b) 2, nly
(b) Both Statementg and Statementyg
are correct ang Statement-]1 ;¢ () Both 1 and ~
not th : o
Statem:ntff TTeet  explanation for (d) Neither 1 nor o
(c) Statement_g IS correct but 66. With reference
t .
tatement—ll is mga-rrect Power Plantsg ilf Icoai.labacs: d _thermal
(d) Statement; s incorrect but X following Statements . =~ CODSider fhq
Statement-yy IS correct ; None of them ygegq Seawate,
- None .
m jg t
Wwater-gt it Up in
64. Consider the following statements 5 Tessed district
. + None of thep, IS Pprivate}
Statement-J - Y Owneq. S
The temperature contrast between How Mmany of the b - ool
continents ang oceans is greater correct? R Statemen ¢
i her than in winter,
St::l i t3 ]illmme (@ Only gpe-
ement-II .
The specific heat of water is more than (b) Only tywoe
that of land surface, (c) Al three
Which one of the following is correct in (d) None
respect of the above statements? .
(a) Both Statement- and Statement-1l 67, W"lba?h‘-atf?‘et?m’ S Sometimes o
are correct and Statement-II is the ?h:l} HWI ] r?e erence tq Which e -
: ® . ollowi
correct explanation for Statement III ¥ 6 e nl? h
ent-] and Statcment—_ a ontrollin the viral isg
) l:;)ct hcitfr::ecT and Statement-1I is Spread by Mmosquitoes. ses
not the correct explanation for (b)  Converting CTOP  residyes into
Statement-I . packing materia]
(c) Statement-I 1Is  correct u (¢) Producing biodegradapb)e Plasticg
Statement-II is incorrect , ,
a _ t Bt (@) Producing biochar frgm thermg.
) Statement-I is incorrec chemical conversion of biefhass
ﬂ Statcme]][—ll 1s correct
Ve
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- Consider the following activities :

1. Spreading fine )
on farmlands extensively
Increasing the alk
by adding Jime'
Capturing carb

by various ind
it i

2.
3.

ustries ang
into abandoneg sub
Mines ip the fo
Waterg

; above activities are
Considereqg discusseq for

69, ‘Aeria] metagenomics’
—  Wwhich ¢
_Co]lcc:ting DNA

ne go
Understanding t

: he genetic mak
of avian Species of 5 habitat#

devices tq collect -

(c) Using air-borne
blood

animals
(d) Sending drones
areas to collect plant

samples  frop,

and anima]
samples from land surfaces ang

water bhodies

70. ‘Microsatellite D

of which one o
(@) Studying the
relationships

species of fauna

(b) Stimu}aling ‘stem

among

transform into diverse functional

tissues

(c) Promoting clonal propagation of

horticultural plants

(d) Assessing the efficacy of er_lgs by
conducting series of drug trials in

a population -

XDTG-F~GS’I'!62A

ly ground basalt rock

alinity of oceans

on dioxide released
Pumping
terranean
™m of carbonated

best referg to
ne of the following Situationg?

_ Samples fropm, air
I a habitat gt o

to inaccessible

NA’ is used in the case
f the following?

evolutionary

71. Consider the follo
reference to India :

29

wing statements with

1. According to the Micro, Small anqg
Medium Enterprises Development
(MSMED) Act, 2006, the ‘medium
enterprises’ are those  with
investments in plant and
machinery between & 15 crore and
¥ 25 crore.

2, All bank lohng to the Micro, Smaly
and Medium Enterpriges -qualify
under the Priority sector,

Which of the Statementsg given above

1s/are Correct?

(a) 1 only

(b) 2 only

(¢) Both 1 and o

(@) Neither 1 nop

T2. Wi]‘_l'{ rcference, to gC;entraJ Bank

e T oo B2
It is Possible
Bt et e byt
US dollar o SWIF Syst, m‘:}._lsmg

2 A digita) urreiﬂcy :
dlstributed th o gin o
Prﬂgrarnrne into it suc l’ld{tlon
frame fo, Pending it + a time

Wthh of th& atements

is/ Corrects Blven aboy,

(@ 1 only

(b) 2 only

¢) Both 1 and 2

(a) Neither 1 nor

o

(@) the procegs of mmultaneaus buyj

m:xd selling an asset f}:»ng
different p]atforms o

(b) an investment trate of
Portfolio Manager balance .
versus reward S s

(¢) a type  of Systemjc risk that
arises where Perfect hedging :
possible S I o

(d) a numeric valye that mege
fluctuation

s of a stock ¢

in the overall stock Mmarket



74. Consider the followin,

g statements
1.

Group

Nancially deprived »
2. SHG, all memy
take re

(SHG)
Tiginally initiated
Bank of India
ing microcredit to the

ers of g group
: _sponsibility for a loan that
an Individya) membler takes,

3. The Regionga] Rural Banyg and
Scheduled Ommercig)] Banks
Support SHGs,

How Mmany of 1 b

i € above statements are

(a) Only one

(b) Only two/

(c) An three
(d) None

75. Consider the follow;i

ctor health care
on cuy
tive,
Are,

gely focuses
limiteq Preven
rehabilitative c

Statement—I] :

Under India’s
to health care
primarily resp
health services

Promotive

decentralize

delivery, the
onsible for o

Which one of the follo

réspect of the above statements?

ng Statementg :

system
rative care wity,

d approach
States are
rganizing

wing is correct in

(@) Both Statement-] and Statement—l[
are correct and Statement-I] 18 the
correct explanation for Statement-]

(b)

Both Statement-I and Statement-I]

are correct and Statemer.lt—ll is
not the correct explanation for

Statement-] »~

(c) Statement-I ie correct
Statement-II is incorrect

(d) Statement-I _is  incorrect
Statement-II is correct

XDTG-FaGST/ 62A
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77. Consider the follo

76. Consider the following statements

Statement-T -

According tq the Uniteq Nations’
World Water Development Report
2022, Indig extracts

than

s groundwater
Withdrawa] eac

h year,
Statemcnt-ll :
India needs

more than
. atisfy the dri
and Sanitation needs of almost 18%

s Population iy in j
s livmg In jtg
Which one of the fo]lowing i
Tespect of the

above stat
(@ Both Statement~1 an

(b) Both State

ment-] and taternent I
€ correct d tement. 11

not the OITect

Statement I

Lc)- Statement——l is co
taternentHII is ian'l‘r;c.‘r?: ' ot

(d) Staternent-l i

-8

18 mcorrect
atement-II is Correct but

Wing
1.

Accord ing to the

Terrorism Act, 200 » Confession of
the accuseq before

_ € _police
cannot be yseq as evide

Nce,
How many of the
correct?

(a) Only one”
(b) Only two
(c) Al three
(d) None

Prevention of

above Statementg are

[P.T.0.
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80. Consider the following statements in
Ng from decades of ciyvi] strife respect of election to the President of
and fooq Shortages_‘_and was in news India : —
In the recent Past for itg Very severe
famines i
(@)  Angola

The memberg nominated to either
House\ of the p

afIiar_ne_njc or the-
Legislative Assemblies of States are
also eligible tq be includeq In the
(B) Costa Rica Electora] College. \/\ wp
. UP-
(¢) Ecuador 2. Higher the Number 4f elective
Assembly seats higher is
: — © BT s the
(d)  Somalia value of vote of €ach MLA of tf;at
State. ) —
e Wy - B 2 )
79. Consider the followin, SiE- 3
§ statements 3. The value of t each MLA
1. In India, the Biodiversity of Madhya Prades ; Teater than
Management Committeeg are key that of Kerala,z-
to the realization of the objectives
of the Nagoya Protocol. % The valye of vote of fach My
o Puducherry iy g, than .-
X 2. The Biodiversity Management of Arunic_l}al Pradesh e alse the
Committees have important ratio of tOtaLPQRQ‘Iation to totg
functions in determining  access number  of elective seats i
and benefit sharing, including the Puducherry g Breater 5 cofﬁbargd
POWer to levy collection fees on to Arunacha} Pradesh, ——
the access of biological resources =
within its jurisdiction.
How many of the above statements are
_ correct?
Which of the statements given above
is/are correct?

(@) Only one
(@) 1 only -

(b) Only two »
(b) 2 only

(c) Only three
(c) Both 1 and 2

1) All four
(d) Neither 1 nor 2 (d)

XDTG-F-GST/62A
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81. With refer

€nc © the Ing; :
X Alexange, ea Ndian History,
Se“‘ell, Ja

) - H. Longhurst, Robert
es R Tgess d :
Were aSSociateq ey and Walter gyjjot

(a)

(b) Establigp

en E
i e nglish Presg in
i {c) establishment hurcheg
| Nncely Stat
(d) constmehon Tailwayg in
ColoniaJ Indig

82. Consider the fOIIOng Pairs
Site Well knoyn for
i Besnagar Shaivite Cave shrine
2 Bhaja - Buddhist cave shrine
3. Sittanavaeal ¢ Jain cave shrine
~
How many' of the &@hove pairs are
Correctly matched?
(a) Only one
(b) Only two
(c) Al three
(d) None
"DTG~F‘~GST/62A
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83. Consider the following statements -

Statement—] :

7th August is declare

Handloom Day.
Statement—-II :

It was in 1905 that

the Swadeshi
Movement was launched on the Same
day.

d as the Nationa]

(c)

Statement-l is co
tatement-ll is incorr,

Statement-1 i

Statement-

Consider the
Tespect of the Nation
accerd'mg to the Flag Code
2002 .

Ndig,
Statementhl 3

ne qof the
the Nationg]

d
lag of
600 mm x 400 mm,

Statcment~ll :

€ ratio of the length to the hej
(wWidth) of the Flag shall pa 3:92, et
Which one o

f the followin
in respect of the above

(@) Both Statement—j a

(d)

in,
II is COTrect
84,

following

g is Correct
statemente?

nd §

Statement-]

(c) Statement-1 g
Statement-1] is inco

(d) Statement-1 s INcorrect
Statement-1] is correct

correct
rrect &

[PT.0
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8S. Consider the following statements in
Tespect of the Constitution Day
Statement_y :

The ¢
26th N

87

the
Ambedkar
titution of

#

2 o i, v
Which

g

is Correct
Ove state

ments?

ITect

Statement~II :
Switzerland

has the sec
gold reservesg

(iild largest
in the world.

Which one of the followin
In respect of the above

(a) Both Statement-I and Statement-Jj

are correct and Statement-IJ ig the
correct explanation for Stat

g is correct
statements?

ement-]

(b) Both Statement-I and Statement—}l
are correct and Statemepthll is
not the correct explanation for
Statement-]

(c) Statement-] is correc}_ but
Statement-II is incorrect

(d) Statement-I s incorrect  but

Statement-I] is correct

37
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. Consider the following statements

Statement-] :
Recently
(USA)
have

» the United States of America
and the Europe

n Union (EU)
launched the i'l‘rade and
Technology Council’,

Statement—ll :

COI"I‘th
Orrect

(c)

St atement-|
Stateme nt—

c
I is incorrect
(}L)/Statementul i

18 incnrrect
Stalcmemhll IS correc

v

but

but

&



ollowm State ent
The ‘St ’ 3
B ablhty ang y
Uropean U ) 0 h i of
L (s Teaty at
N \E;Imts the evelq :
Or ¢
E%imt °f the “Tl}:fie Betary,
lnfrastruct o acilit? hfre sl
3 Enables 5 Oun:ri b
UTopeay, ; =8 ot the
tEChno10g nion to Share thejy
How f the bo;/
Corrects ¢ Atement are
(@ Only One
(b) Only ty,
(c) 1 three.
(d) None
90. Onsider the followlng Statementg
1; Recently, all the Countrieg of th
niteq ations p ve dopteq the
Irst-eve Mpact for €Mationg]
rnigration, the q, Ompact
Or Saf, ’ Orderly and egular
1gration [GCM]’ ¥
2. The objectiVes eommit_ments
Stated ip the G¢ are bindmg on
the UN member Countrieg.
i 1
Th GCM addresseg Interng
% rnigration or internally c_hsplaced
People also in its objectives and
Commitments.
How many of the above statements are
0
correct?
(@) Only onew”
(b) Only two
(c) Al three
(d) None
XDTGhFHG ST/62A
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(d)

91. With Teference to Hom Gu ds, consider
" the follow; § Statemen;
1._ Home uards g faised unger the
" Home ar and Ryleg of
the Central Vi ment\,
2, Th role of Ome Guards 1s
to se e auxilj rce tq
fche Police aj tenap e
Mterng) Secy ty
3. ’iI'ot Preven Mfiltrag on  the
tr1; ernatlonal bc_-r €r/co ta] areag
Bett ]f.lor €T Wip Hom Gu ds
Attaliop, haye be i -
Me Stat s . =a n
Hoyw Mar, of ¢
Correqpay he above st tements are
(a) Only One
(b) Only two
(c) Al three
(d) Non
92. ith fi Teénce t i
folll g :0 Indla, eonsider the
Action, The Act Unde,
U.Jhlch it is v
1 gt}]i:ﬁhomed wearing * The fficial ed
168 or—pmen
UNifor. —llitery Act, 1955 Serety
2. Knowingly Ipisleadm The "
or. othe se Intey. dene dl&n Evjh
ferin h Police ¢ ct, 1872
officer rnilitary
officer Ngageq
In thejy dut
3 Ct}allelﬁrat Bunfire The (
Which g Ndange,. S (An,
the pergop 1 Safety of Meny Act, 2013}(1“
otherg
e
How ma of ¢ :
Correctly matched? abo\e pairs are
(a) Only one -
(b) ()nly two
() Al three

g



93. Consider the following pairs -

gions often Reason for being
Mentioneq i news in news
1. North Kivy and Iturj - War between
/ Armenia anq
\,\ Azerb&ij&n
2 Nagorno~l{ambakh R Insurgency in +
MOZambique
3. Kherson and _ .+ Dispyte between
Zaponzhzhaa Israel ang Lebanon

How any of the abave i
COTTeCtly matchego Peirs; e

(a) Only 0ne'/

and Statemem—ll
Statemcnt—ll 1

(c) Statement-] g correct. byt
Statement-1] ig incorreopt”
[d) Statement-] ig incorrect byt

Statement-]] 18 correct

XDTG*F~GS'I‘162A
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95. Consider the followin

to spozt_s_qu_a{c_ls :

1. Major Dhyan Chand ;
Khel Ratng Award

2. Atjuna Awarg

3. Dronacharya Awarq

(@) Onl}' One
(b) Oﬂly twg &

For
Spectacular
Outstanding
formance
Sportsperson
period of 5
Years

: For e
achievement

4 SPortsperson
: To h

of the
Matcheq?

g pairs with regard

the most

and
per-

a
over
st four

by

lifetime

=

—~_ (d) An four
[ &
kg'ﬁ))Conmdcr th fol]oWing state
Tespect of the 44th o in
2023 . - Chess "oy Plaq,
| B 7 was_ the TSt tj that Ch
Olympiag Was helq Indig, -8
2 he officia] mascot ,
hamby’ eS8 nameq
3. "I‘he trophy for the Ning tea
N the opep Section g th Ve:-n
Menchik Cup. *
4. The trophy for the Winnin team
N the Women'g Section g the
Hamiltun—Russeu Cup.
How many of the Slatemenyg glven
above are correct?
(a) Only one
(b) Only two
(c) Only three
(d) Al four
41
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97. Consider the following pairs

99. Consider the following heavy industries :
Areq of conflict

. : Country where 1. Fertilizer plants il
mentioned in neys it is located
VYA i ;
I Dittbae Syria ¥ 2. Oil refineries
2. Kachin Ethiopia‘f‘ 3. Steel plants
3. Tigray
North Yemin Green hydrogen ig expected to_play
. A ;:;gmﬁfcm% role in decarbonizing how
OW many of e above pairs are Y of the above Industrieg?
correctly matchegds ————
(a) Oﬂly one
(@) Only one () Only ty,
(¢ An three.
(b) Only two =
(d) None
(c) Al three
100. Con
Sder the following Stateme
(d) Nong s aboyt
1. The g,
=20
: goup ;s
~Stablisheq ag 4 plaas OTiginayyy,
98. In the reccnt_ycars ‘Chad, Guinea, Malj Finance Minigte torm for th
and Sudan raught the international Bank ove Qrsl's d €ntry)
attention for which one of the following imemaﬁona_l ° disc S the
réasons common to all of them? ‘nancial jggeg O OMic ang
74 .
2. Digita £ g
. : Pub
(a) Discovery of rich deposits of rare of India’g Cilc mfrastm ture is
earth elements Priorit -
‘_"'h“’h of the Statement
(B} Establishment of Chinese military 's/are correct Siven boye
bases ;
(@ 1 only
(c) Southward expansion of Sahara (b) 2 onlys
Desert '
(¢) Both 1 and- 2
(d) Successful coups (d) Neither | nor 2
43
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